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pip install openai

pip install langchain

pip install langchain-openai
pip install langchain_community
pip install langchain-core

ChatGPT API

from openai import OpenAl
import getpass



# API J|E Ct&NGHH &S

API_KEY = getpass.getpass("OpenAI API J|E 2EotHMR: ")

c|2E0 Tt LIES MEoto %2l Chzt 0]0] 71|
from openai import OpenAI

# OpenAI API 2¢ct0/HE =D|35t
client = OpenAI(api_key=API_KEY)

# Ut S22 =522 2l

conversation_history = []

def chat(message):
# NEX HAIXIE gt JIS0 =0t
conversation_history.append({"role": "user", "content": message})

# OpenAI APIE AIE5I0 S M4

response = client.chat.completions.create(
model="gpt-40-mini",
messages=conversation_history,
max_tokens=100

)

# AIS S & ==

ai_message = response.choices[0].message.content.strip()

# AI SE= U3 JIS0 =0t
conversation_history.append({"role": "assistant", "content

: ai_message})
return ai_message

# X G CHS

msgl = "CtE SN R!"
print("AFE X ", msgl)
print("AI : ", chat(msgl))

# & B s

msg2 = "M Ol&§2 &=L LICH."
print("AFEZ Xt : ", msg2)
print("AI : ", chat(msg2))

# N S CHst

msg3 = "Ml 0|50l AF&?"
print("AFE X ", msg3)
print("AI : ", chat(msg3))

# M S OHst

msgd = "M OIS0 HAJYLE? HEH W 0= 210 ALI?"
print("AFE X ", msg4d)

print("AI : ", chat(msg4))
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pip install python-dotenv

27| 72| LangChain

from dotenv import load_dotenv
import os

# .env It &
load_dotenv("chatgpt.env")

# .env WU A API I JtH 2|
CHATGPT_APIKEY = os.getenv("API_KEY")

if not CHATGPT_APIKEY:
raise ValueError("OPENAI_API KEYJ} .env It 0 H&E & X LASLICH.")

from langchain.memory import ConversationBufferMemory
from langchain.chains import ConversationChain
from langchain.llms import OpenAI

# HZ2cl AlIAE =D|st

# st LHES =XNE 22 H&Eot= 2test [ &

# Wet 2K : ConversationBufferMemoryS Sofl (3 Hets NS RIA
memory = ConversationBufferMemory()

# sk Mo My
# A0 24, HIRE, ZEZTE HE32 HEs U AlAE
conversation = ConversationChain(
11m=0penAI(),
memory=memory, # FI0A s HEc ALES AHE
verbose=False # MMNS =22 43

# 3 B s

# conversation.predict()E AtE0t0 CHstE & &
msgl = "CtE SN R!"

print("AFE X ", msgl)



responsel = conversation.predict(input=msgl)
print(responsel)

t
msg2 = "M 0l 2d&E=+=LLICH.
print("AFE X ¢ ", msg2)
response2 = conversation.predict(input=msg2)
print(response2)

# N M CHg (OIE2 JIYE)
response3 = conversation.predict(input="Xl 0[S0 A A L?")

print(response3)
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from langchain_openai import ChatOpenAI
from langchain.memory import ChatMessageHistory
from langchain_core.runnables import RunnableWithMessageHistory

# .env WY 2 &
load_dotenv("chatgpt.env")

# .env WU A API I It 2|
CHATGPT_APIKEY = os.getenv("API_KEY")

if not CHATGPT_APIKEY:
raise ValueError("OPENAI_API KEYJ} .env I 0 &KX 2USLICH.™)
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from langchain.memory import ChatMessageHistory
from langchain.chat_models import ChatOpenAI
from langchain_core.runnables import RunnableWithMessageHistory

# 2tHtel ol AR 2tel 22 =Dzt
memory = ChatMessageHistory()
1lm = ChatOpenAI(model name="gpt-40-mini", openai_api_key=CHATGPT_APIKEY)

conversation = RunnableWithMessageHistory(runnable=11lm, get_session_history=1amk

# CH3h Ol Al
session_id = "session 123" # ANl& ID &9

# & st S8

msgl = "CtE SN R!"

responsel = conversation.invoke(
{"content": msgl},



config={"configurable": {"session_id": session_id}}

print("AI:", responsel.content)

msg2 = "M Ol82 d&E=LLICH."
response2 = conversation.invoke(
{"content": msg2},
config={"configurable": {"session_id": session_id}}

print("AI:", response2.content)

msg3 = "Ml OS50l AJ&?"
response3 = conversation.invoke(
{"content": msg3},
config={"configurable": {"session_id": session_id}}

print("AI:", response3.content)

C:\Users\daniel_wj\AppData\Local\Temp\ipykernel 30416\4273041000.py:7: LangChainD
eprecationWarning: The class ~ChatOpenAI’ was deprecated in LangChain 0.0.10 and
will be removed in 1.0. An updated version of the class exists in the :class: ~la
ngchain-openai package and should be used instead. To use it run “pip install -U
:class: ~langchain-openai” and import as “from :class: ~langchain_openai import C

hatOpenAI .
1lm = ChatOpenAI(model name="gpt-40-mini", openai_api_key=CHATGPT_APIKEY)
AI: HHEOIAR! HEN SAEENK?
AI: BHUA Bt sUb, 228! 0T O0I0JIE Us1 AMIR?
AI: Ao 0|82 ZdE+LLIC! O 228 &0l JU2KIHR?

g S HE

# M2 HI22 22 AIAE
memory = ChatMessageHistory()

# LM 23

# OpenAI -> ChatOpenAIZ Bl &
# ChatOpenAI Z%=J|3}

1lm = ChatOpenAI(

model name="gpt-4o0-mini", # AtE& 2Z (0l : "gpt-4")
temperature=0.7, # S dod = &H
max_tokens=500, # Z0 =28 E2 =

openai_api_key=CHATGPT_APIKEY
)

# Hl& SlAEe HEA
session_histories = {}

# Nl& SlAECIE dd £= SHeE &=
# def S=H(HHEH-H: Bt ) -> Bttt _EL S
def get_session_history(session_id: str)-> ChatMessageHistory:
if session_id not in session_histories:
session_histories[session_id] = ChatMessageHistory() # M olA &2l MA

return session_histories[session_id]

=

# ConversationChainOll N RunnableWithMessageHistory= 4 Al



# LangChainOl M CHat Ol & (chat history)S 2 c2lotJd| @8t I (wrapper) 2 A

# =2 A 2N ASEHZUHA **HAKX SIAEC (3 JIF)**E Heldt= O At

# o1. U3t 0l8 Ns22 &L

# 02. 2 NMEgE=2 =S£XH2 s A8AE SN

# 03. DIAIN H& & HM Jls MS

# RunnableWithMessageHistory ZJ|3}

conversation = RunnableWithMessageHistory(
runnable=11lm, # &&is [imOILL X Ql
get_session_history=get_session_history, # ANl & olAEC] MA &=
message_history key="chat history" # A& &: 3/AE2] I| 0lS

)

# CH3H Ol Al

session_id = "session 123" # ANl& ID &2
# O3t Ol Al

msgl = "CtE SN R!"

print("AFE Xt:", msgl)
responsel = conversation.invoke(

{"content": msgl},

config={"configurable": {"session_id": session_id}}
)

print("AI:", responsel.content)

msg2 = "M Ol§& ZdE=LLIC."
print("AFE Xt:", msg2)
response2 = conversation.invoke(
{"content": msg2},
config={"configurable": {"session_id": session_id}}
)

print("AI:", response2.content)

msg3 = "Ml 0|0l AAF&?"
print("AFE Xt:", msg3)
response3 = conversation.invoke(
{"content": msg3},
config={"configurable": {"session_id": session_id}}
)

print("AI:", response3.content)
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